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1.

PART—I

( GENERAL STUDIES )

10 years ago the ratio of ages
of Ramesh and Rajeev was 1 : 3.
S years hence this ratio will
become 2 : 3. What is the ratio
of their ages at present?

(A) 2:5
B) 3:5
Cc 1:2

(D) More than one of the above

(E) None of the above

If I walk with a speed of 5 km
per hour from my house to the
station, my train would have left
the station 7 minutes before my
arrival. But, if I walk with a
speed of 6 km per hour, [ will
reach the station S5 minutes
before the departure of my
train. Accordingly, what is the
distance between my house and
the station?

(A) 7 km
(B) 65 km
(C) 6 km

(D) More than one of the above

(E) None of the above

17/MV/M-2023-01-10 (S)/10-A

3. The average monthly income of

P and Q is ¥ 5,050. The average
monthly income of Q and R is
¥6,250 and the average
monthly income of P and R is
¥ 5,200. The monthly income of
P is

(A) ¥ 3,500
(B) ¥ 4,050
(C) ¥ 4,000

(D) More than one of the above
(E) None of the above

If 30% of P is added to 40%
of Q, it becomes 80% of Q.
Accordingly, what is the
percentage of Q with respect
to P?

(A) 40%
(B) 50%
(C) 75%

(D) More than one of the above
(E) None of the above

A sum of money is to be
distributed among A, B, C, D in
the proportion of 5:2:4:3. If
C gets ¥ 1,000 more than D,
what is B’s share?

(A) ¥ 500
(B) ¥ 1,500
(C) ¥ 2,000

(D) More than one of the above
(E) None of the above



1.

PART—I

( GENERAL STUDIES )

10 a9 qd WY @ TSE A A H
YA 1: 3 A F F 5 ¥ 9w T8
U 2 : 3 B S| FdHE § 3!

1Y T U T 27

(A) 2:5

B) 3:5

C 1:2

(D) 39w | ¥ UH ¥ M

(E) 30 | ¥ 18

gfe § 3199 = ¥ 5 foho o ufdq wer i
T & XM % U = g, at vl me
T I TEEE ¥ 7 e v g2 g
At 21 g afe & 6 fRo o ufa =i
1 Tfd @ =eran g, a1 § WIE WML h
T ¥ 5 e wed wga S g
TEgER, W 3R WIE o o= H gl
ERI A

(A) 7 feRo Hto

(B) 65 Teho o

(C) 6 feho o

(D) 30w W | TH § Afh
(E) Sudth § & #1$ T
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3. P 3R Q i fud wGw A

¥ 5,050 21 Q 3R R & 0Eq ATt
g € 6,250 8 9A1 P 3R R Fi 3Nwd
mfees 3 € 5,200 ®| P il AiiEes
I 2

(A) ¥ 3,500

(B) ¥ 4,050

(C) ¥ 4,000

(D) 39w H ¥ UH ¥ M+
(E) 3udth § & 1S T

. e P # 30%, O % 40% U e fan

S, 9 98 O H 80% @ Sl ®|
TEFER Q, P 1 foha wferera 27

(A) 40%

(B) 50%

(C) 75%

(D) 3w W | TH § AfUeh
(E) 3udth # & 1S 7

. A B C,D&dH5:2:4:3%

3T & o 1 T o 5 21 afe
C &I D& T 1,000 ftre firera 8, @
B = fewdn = 27

(A) ¥ 500

(B) ¥ 1,500

(C) ¥ 2,000

(D) 39w | ¥ UH ¥ M
(E) 3udth § & 1g T
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6. A shopkeeper gives a discount
of 5% on the selling price of a
watch. If he gives a discount of
6%, he will earn a profit which
is ¥ 15 less than the before.
Accordingly, what is the marked
selling price of that watch?

(A) ¥ 1,400
(B) ¥ 1,500
(C) ¥ 1,800

(D) More than one of the above

(E) None of the above

7. Three numbers are in the ratio
3 :4:5. The total of the largest
and the smallest numbers is
equal to the other number
plus 52. Accordingly, which is

the smallest number?
(A) 27
(B) 39
(C) 52
(D) More than one of the above
(E) None of the above
8. If22n1= el then the value
of n is
(A) 3
(B) 2
€ -2

(D) More than one of the above

(E) None of the above
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9. Which of the following photo-
electric devices is the most
suitable for digital applications?

(A) Photo-voltaic cell
(B) Photo-emissive cell
(C) Photo-diode
(D) More than one of the above
(E) None of the above

10. The critical mass of a fissionable
material is
(A) one kilogram equivalent
(B) the minimum mass needed

for chain reaction
(C) the rest mass equivalent to
1010 joules

(D) More than one of the above
(E) None of the above

11. Which of the following gases is
used to force the ripening of
fruits?
(A) Ethane
(B) Ethylene
(C) Methylene
(D) More than one of the above
(E) None of the above

12. Which one of the following has
zero octane number?
(A) Iso-octane
(B) Neo-octane
(C) n-octane
(D) More than one of the above
(E) None of the above
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6. T% GHMER UH HEl d=d 99d forshl 4o

W 5% T2 @ 2l AT T/ W W 6%
FeIqa e, a1 W U ° T 15 FH H
A TR | degEr, 39 HSl 1 3fohd
fersht T = 27

(A) ¥ 1,400

(B) € 1,500

(C) ¥ 1,800

(D) 39w H ¥ UH ¥ M+
(E) 3udeh # & 1S 7

. @9 w=d 3:4:5 % gdd H gl
ITH a9 JE Ud gl DI TEATRA I
AT, A @A qAT 52 % AN o TR
3| TEIUR, ol B GEAT HA-HT 27
(A) 27

(B) 39

(C) 52

(D) 3w U | TH A Al

(E) 3T | ¥ *18 e

8. aﬁ22n_1:8nl_3,?ﬁnaﬂm%

(A) 3

B) 2

(C) -2

(D) 39w | ¥ TH ¥ M
(E) 3udth # ¥ #1$ T
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9. fmfafgd & ¥ &HH-A1 ®RI-TGEH

10.

11.

12.

Iy fefved gy & fou de
I &7

(A) ®RI-Ffees o

(B) WIeI-3cEsieh U

(C) WIRI-SriTe

(D) 39w W | TH § AfUh

(E) 3 § & 1S T

Trelt Tor@ S 39 w1 Wi FeaH

=l

(A) T Tt wnged

(B) et aifufshan v Tawash =aw
ESbit]

(C) 10! et % wAged form FomH

(D) 39w H ¥ TH ¥ 1M

(E) 3udth # @ 1$ T

el ol STeRaEdt qeh o forg frefatea
o @ form g 1 3T foRern A 27
() 3

(B) uferet

(C) uforef=

(D) 30w U | TH § Al

(E) 3udth # & 1S T

frafafeaa & @ ot stfaa @@
T 87

(A)  3HTEEI-STFA

(B) faefi-ataeq

(C) n-3ATFA

(D) 39w | ¥ UH ¥ 1M

(E) 3udth § & #1g T
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13.

14.

15.

16.

The edible part of Litchis is
(A) aril

(B) thalamus

(C) seed coat

(D) More than one of the above

(E) None of the above

The physical process involved in
the release of molecular oxygen
from leaves is

(A) diffusion

(B) transpiration

(C) osmosis

(D) More than one of the above

(E) None of the above

The process of finding the
relative location of genes on a
chromosome is called

(A) genome walking

(B) chromosome walking

(C) gene mapping

(D) More than one of the above

(E) None of the above

Spore mother cell in bryophytes
is

(A) haploid
(B) diploid
(C) triploid

(D) More than one of the above

(E) None of the above
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17.

18.

19.

20.

In which year was NGT (National
Green Tribunal) for protection
of environment and forest
established by the Government
of India?

(A) 2010
(B) 2011
(C) 2012

(D) More than one of the above
(E) None of the above

Which city of India started first
under-water metro?

(A) Kochi

(B) Visakhapatnam

(C) Bengaluru

(D) More than one of the above
(E) None of the above

Under India’s G20 Presidency,
where was the Tourism Working
Group Meeting held?

(A) Patna (Bihar)
(B) Srinagar

Kashmir)
(C) Ramnagar (Uttarakhand)
(D) More than one of the above
(E) None of the above

(Jammu and

Who among the following got
the Silver Medal in the National
Under-17 Girls Wrestling
Championship?

(A) Liza Tomar

(B) Nirjala

(C) Pushpa Yadav

(D) More than one of the above
(E) None of the above
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14.

15.

16.

of=ht = @ T R

(A) i

(B) em|

(C) i< =i

(D) 39w H ¥ TH ¥ M
(E) 3udth # & #1$ T

ruiferes ATRdfiS ST Ot | faeRer
-4t ofifos foram 27

(A) oo

(B) aTSHIcEs

(C) R

(D) 3w U | TH § Afh

(E) 3udeh # & 1S 7

foredt o W SfET Gt et feafa
T A Y TR FEed B

(A) S 1 T

(B) O =T <A

(C) SiF Tt

(D) 39w H ¥ UH ¥ M
(E) 3udth # & #1$ T

STEEIEE o SfIST] |G IR Bl B
(A) T

(B) femfora

(C) Ffora

(D) 39w | ¥ UH ¥ M+

(E) 3udth § @ #1$ T
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17.

18.

19.

20.

T TRR R Jfar0r 7R a9 <t graf
# fau frm ad NGT (fema o=
o) <t T 1 TS oft?

(A) 2010

(B) 2011

(C) 2012

(D) 39w | ¥ TH ¥ M=

(E) 3w & @ 18 7t

Id & fFe T 3 9o TR U %
= At i yEeTTa HrY

() ==

(B) feremardmm

(C) STege

(D) 39w | ¥ UH ¥ M+

(E) 3w @ 4 g T

IRA G20 FeAFA H e FrREg
! 93 el g3 i

() e (forer)

(B) #FT (S 3R F7Hi)

(C) TR (IHTEE)

(D) 39Y® | ¥ TH ¥ M

(E) 3w | § Hig Tl

T ° frm wiE eAeR-17 anforeR
Fct SrfafT § §d gee T fRer?
(A) s AR

(B) fste

(C) g Ared

(D) 39w | ¥ UH ¥ M+

(E) 394 # & hrg 7
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21. Who won the International 25. Match List-I with List-II :
Booker Prize, 2022 for the novel,

Tomb of Sand? List—I List—II

(A) Geetanjali Shree and Daisy a. Char 1. Punjab plain
Rockwell

(B) David Diop and Anna b. Kankar 2. Delta
Moschovakis c. Kayal 3. Bangar

(C) Marilyn Booth and Jokha
Alharthi d. Mand 4. Coastal plain

(D) More than one of the above

(E) None of the above Select the correct answer using

the codes given below.

22. Who was the Chief Guest on &) a b c d
India’s 74th Republic Day? 1 4 2 3

(A) Mohammed bin Salman
(B) Abdel Fattah EI-Sisi B) a b ¢

(C) Sheikh Mohammed bin
Rashid Al Maktoum

(D) More than one of the above ) a b ¢ d
(E) None of the above 3 4 2

N
w
N
—

[a—Y

D) M th f the ab
23. In which district of Bihar, the (D) ore than ohie of the above

first floating solar power plant
has been built?

(A) Darbhanga

(B) West Champaran

(C) Madhubani

(D) More than one of the above
(E) None of the above

(E) None of the above

26. Which of the following
tributaries does not join
Brahmaputra river from north?

(A) Subansiri
24. Which of the following has got
GI Tag in Bihar? (B) Belsiri
(A) Maghai Paan
(B) Basmati Rice
(C) Chanderi Saree
(D) More than one of the above
(E) None of the above (E) None of the above

(C) Manas

(D) More than one of the above
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21. UM 7 3 G % folU FRigE 25. -1 F -1 & gafaa i
TR G, 2022 Tore sfiar?

(A) T of i S T Tz -
(B) =fug feam iR om=n Arepiantsa a. =R 1. oo 1 Hed
(C) Hfe g1 R S steareff b A
(D) 39w | ¥ UH ¥ M+
(E) 30w § & i c. &EA 3. amm
d. we 4. @ Tem
22. 9RA % 749 A faw W wE g
s 47 = fow T g oM W Al IW
(A) e o Jomm ﬂﬁ"ﬂ
(B) Todd %ag e -Tot
(C) @ Higme fot Tl a1t weham (A) ? Z ; g
(D) 39w | ¥ TH ¥ M
‘ : B) a b c
(B) 37w 5 & s 7 2 3 4 1
23. fogr & form foer § wow o g3 e € a b ¢ d
Sl GI SR T R Y 3 1 4 2
(A) = (D) I & ¥ TF § e
" Sl H @ i
E
©) g ")
(D) 39y H ¥ TH ¥ M
(E) 3 # & g e 26. frfafad & ¥ FA-@ wEEE @
FEgA ¥ I fown & T frerdt 27
24, foer # f=fafas @ @ fR GI 2w
forem 27 (A) g
(A) TTE A (B) seAfet
(B) <EHd =TEd (©) W
(C) =it @t ‘
(D) 30w W | TH § Afeh (D) 3T & 7% § wifers
(E) 3w & & 15 T (E) 393 & & g T
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27. Likhapani glacier is located in

28.

29.

which State of India?

(A) Arunachal Pradesh

(B) Himachal Pradesh

(C) Sikkim

(D) More than one of the above

(E) None of the above

Magadha and Anga plains are
parts of

(A) upper Ganga plain

(B) middle Ganga plain

(C) lower Ganga plain

(D) More than one of the above

(E) None of the above

Which of the following pairs of
waterfalls and rivers is not
correctly matched?

(A) Jog—Sharavati

(B) Kapildhara—Kaveri

(C) Dhuandhar—Godavari

(D) More than one of the above

(E) None of the above
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30. Arrange the following seaports of

India from north to south :
1. Kakinada

2. Machilipatnam

3. Nagapattinam

4. Visakhapatnam

Select the correct answer using
the codes given below.

A 1,2, 3,4
B) 4,1,2,3
< 1,3,2,4

(D) More than one of the above

(E) None of the above

31. The Agreement of Kosi Irrigation
and Hydroelectricity Plan in
1954 was signed between which
two countries?

(A) India and Bangladesh

(B) India and China

(C) India and Nepal

(D) More than one of the above
(E) None of the above

32. In which climatic division does
Bihar fall as per R. L. Singh’s
classification scheme?

(A) Humid south-east
(B) Subhumid transitional
(C) Subhumid continental
(D) More than one of the above
(E) None of the above
10 [l RN R RO AR



27. TEmH faae yra & fefatas @ @

28.

29.

fora T=a 4 feora 77

(A) TR 3T

(B) Tenreret e

(C) fufem

(D) 39Y® | ¥ TH ¥ M
(E) 3w & & 18 7t

Y TS S 1 HeH e fee 87
(A) T T H B

(B) TeF T H1 B

(C) =t 7 =1 Bem

(D) 39w | ¥ UH ¥ M

(E) 3udth # & #1$ T

SAYaTd 3T et o fefefaa sl 8 9
HH-|1 ST el gufera A&t a7

(A)  STT—Irerdt

(B) HiUCTERI—ahIadt

(C) YATaR—eEadt

(D) 39w | ¥ TH ¥ M
(E) 3udth # & #1$ T
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30. wid & f=fafiaa seumE = I 4

31.

32.

afequr faem ® afeda il
1. RS

2. HSAIEH

3. Ammfgm

4, foemETTE

f= fau MU Fe W oW W A IW
|

A) 1,2, 3,4

(B) 4,1, 2,3

C 1, 3,2, 4

(D) 39w | ¥ TH ¥ 1M

(E) 39t # & 1g T

1954 & foF 3t auit % oftm wreft fmrg
TH Sefored, IRESET T geatd

IR

(A) TR TR TFATSIT
(B) wRaay iR ==

(C) 9Raay 3R Juret

(D) 39w | ¥ UH ¥ M+
(E) 394 H ¥ HI3 T

Ao Tdlo ﬁTS' & offeRtor whg
AR, foEr fFe TR o Saarg wew
T T 87

(A) =18 sferor-gd

(B) 39T THHUTRICAH

(C) 3uTE weTgd

(D) 39y | ¥ TH ¥ M
(E) 39tk # & 1$ T
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33. In which Session of the Indian 37. Which portfolio did Dr. Rajendra
National Congress was the Prasad hold during the Interim
resolution of ‘Purna Swaraj’ Government of 19467?
adopted? (A) Defence
(A) Kanpur Session, 1925 (B) Home
(B) Lahor;Sessi(‘)n, 1929 (C) Food and Agriculture
(g) ;(/Iaracthl Sess1on1: tligs{b (D) More than one of the above
:E)) Nc‘)’;ee Ofa?hzn:bive ©above (E) None of the above

38. Wh th followi

34. What was an initial objective of o amons © OLOWINE
. , . ) particularly urged Gandhiji to
Kuka Movement’ in Punjab? visit Champaran to witness the
(A) To purify the Sikh religion miseries of the Ryots?

(B) ’;o ga]ijn political power in (A) Brijkishore Prasad
unja
@ (B) Rajkumar Shukla
(C) Organization of peasant
movement (C) Sukhram Ganesh
(D) More than one of the above (D) More than one of the above
(E) None of the above (E) None of the above

35. Who described the Revolt of 39. The Day of Deliverance’ was
1857 as the ‘First Indian War of observed by the Muslim League
Independence’? on which date?

(A) V. D. Savarkar (A) 22nd December, 1939

(B) Bal Gangadhar Tilak (B) 17th October, 1939

(C) Bipin Chandra Pal (C) 22nd December, 1940

(D) More than one of the above (D) More than one of the above
(E) None of the above (E) None of the above

36. Where was the first instance of 40. Who laid the foundation stone
organTzed non—cqoperatlon m of National College and Bihar
;h?dzustory of Indian peasantry Vidyapeeth?

eld? .
(A) Bihar and Bengal (A) Dr. Rajendra Prasad
(B) Madras Presidency (B) Maulana Abdul ]?an
(C) Punjab Province (C) Mahatma Gandhi
(D) More than one of the above (D) More than one of the above
(E) None of the above (E) None of the above
17/MV/M-2023-01-10 (S)/10-A 12 [ AR R RO AR



33.

34.

35.

36.

IR T wOE % e eriewE d
qul TSt 1 T R g3 o

(A) FHE AfrewHE, 1925

(B) <R AfrawM, 1929

(C) =t @M, 1931

(D) 39Y® | ¥ TH ¥ M

(E) Sudth # & #1$ T

USTTE H ekl STl Rl TR 32w
eI

(A) @ g =t aftepd wE

(B) USTE H TSHIfeh Ik UTH AT
(C) TFH =T HT TS

(D) 39w | ¥ TH ¥ M

(E) 3udth # & #1$ T

1857 % fusie = fruss 3@ ‘wem
IR Tadaar @um’ % &9 gfid
o T e?

(A) o Elo AT

(B) et TR feretsh

(C) faftm ==z urat

(D) 39w H ¥ UH ¥ M

(E) 3udth # & 1S T

g ot % sfoem # @fea
STHEANT 1 T 3T el Hfed gl
oaT?

(A) forer 3 sme

(B) w5 SEfeE

(C) uSITa ifa=d

(D) 3wtk & & T @ enferen

(E) 3udth # & #1$ T
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37.

38.

39.

40.

¥ 1946 # I I<fH WeR H
fo TS5 YHE o UE hiH-dT faam
o7

(A) T

(B) T®

(C) T wd FY

(D) 39w | ¥ UH ¥ M+

(E) 3w & 9 18 T

Tiefisht =t faei €0 @ TR0 3 3R
TET % Fehi hl g fefa =it 3@ g
R a1 fomam on?

(A) PRI S

(B) USIHHT IFc

(C) Gt Torer

(D) 39w | ¥ TH ¥ M

(E) 3udth # @ 1$ T

yfeem o gr frw fafa 0 ‘gfe R
AT T ATY

(A) 22 fearr, 1939
(B) 17 3TN, 1939
(C) 22 feawr, 1940
(D) 39w | ¥ TH ¥ M
(E) 3udth # & #1$ T

WEA s 3R TR fommdis ==
o= fre foma en?

(A) Efo TSIE TETE

(B) HIGTHT 3155 aIRY

(C) W et

(D) 39Y® | ¥ TH ¥ M
(E) 3udth # & 1$ T
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41.

42.

PART—II
( SCIENCE )

A rocket, set for vertical firing,
weighs 50 kg and contains
450 kg of fuel. It can have
a maximum exhaust velocity
of 5km/sec. What should be
its minimum rate of fuel
consumption to just lift it off the
launching pad?

(A) 098 kg/sec

(B) 0-098 kg/sec

(C) 9-8 kg/sec

(D) More than one of the above

(E) None of the above

Consider circular orbits in
a central force  potential
V(r)=-k/r", where k>0 and

0<n < 2. If the time period of a
circular orbit of radius R is T
and that of radius 2R is Ty,
then Ty /T; is

(A) 22
B) 273
(© 22!

(D) More than one of the above

(E) None of the above

17/MV/M-2023-08 SCI (S)/10-A

43. What is the ratio of total kinetic
energies in laboratory system
(T;) and centre of mass system
(Tc) in the scattering with
projectile of mass m; and target
of mass my?
(A) my:my
(B) (mq+mgy):my
(C) (my+my):my
(D) More than one of the above
(E) None of the above

44. In the analysis of flow velocity of
a fluid for a fixed instant of time,
a space curve is drawn so that
it is tangent everywhere to the
velocity vector. Then this curve
is usually known as
(A) instantaneous curve
(B) momentum curve
(C) streamline
(D) More than one of the above
(E) None of the above
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42,

PART—II

( SCIENCE )
41. FwEi wENT % fau 92 fey T s

ke @1 a5 50 fho o B 3w zad
450 fho UWo FeM B TEHT AfHad
e a1 5 ko wWio /Aehe &1 Hehdl 21
Alf= T ¥ 30 ofigl W 33H & forw
A o9 WUq I =HAH R R EE!
=fgu?

(A) 0-98 feho o /e
(B) 0-098 fo Uio /uehs
(C) 9-8 fho Ulo /ThE

(D) 39Y® | ¥ TH ¥ M
(E) 3udth # & 1S T

FET A fava V(r) = —k /r™ § g™
FefreT W fo=m fifste, St k> 0 IR
O<n<2 g At B=n R & w
JAER FeAl H THAER T; B IR
Bsm 2R #1 TR FARR  wEAT i
THATEY Ty 8, @ Ty /Ty ®

(A) 22
B) 23
© 22!

(D) 39w | ¥ UH ¥ M+
(E) 37 & ¥ 18 T
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43. TFIE m; % 98 IR TFAE m, &

44,

A& &k Y YR § JARTIE 97 (7))
3R gemH-%8 0 (To) ¥ T T
FHelieTl T TG 1 27

(A) my:mg

(B) (mq+mg):my

(C) (mg+mg):my

(D) 39w | ¥ UH ¥ M

(E) 37 & ¥ 18 T

e v wma & fou fordt ot gerd
% YaTE AT & favelwur O, uw Aafe
EEIRCIE S | I ol A O s | D
faq & e wi-tEn B g g% A
IR W 5T &9 T ST STTam 27

(A) dTcehTTcTeh ah

(B) HaT 9%

(C) “RREEn

(D) 39w | ¥ TH ¥ M=

(E) 39 § & rg T
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45. Two boxes A and B contain

46.

equal number of molecules of
the same gas. If the volumes
are V4, and Vg, and A4 and Ag

denote respective mean free
paths, then
(A) Apa=2Ap

A A
B) A=07

A B

A A
(C) A B

1/3 ~ (,1/3
vy® vy

(D) More than one of the above

(E) None of the above

Which of the following is not the
characteristic of Planck’s black-
body radiation distribution?

(A) As temperature increases,
the peak of the curve shifts
towards higher wavelength.

(B) Spectral emissive power
varies continuously with
the change in wavelength.

(C) At a given wavelength,
as temperature increases,
emissive power also
increases.

(D) More than one of the above

(E) None of the above

17/MV/M-2023-08 SCI (S)/10-A

47.

48.

In an interference pattern
produced by two identical slits,
the intensity at the site of
maxima is I. If either of the
slits is closed, the intensity at
the same spot is Ij. What is the
relation between I and I?

(A) I=1I

B) I=2I,

(C) I=4I,

(D) More than one of the above

(E) None of the above

A light of 600 nm wavelength
is incident on a single slit. The
first minimum of the diffraction
pattern is obtained at a distance
of 4 mm from the centre. The
distance between the screen and
the slit is 2 m. What is the
width of the slit?

(A) 01 mm
(B) 0-:3 mm
(C) 05 mm
(D) More than one of the above

(E) None of the above
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45. 3 g A IR B § 9uH 9 % A

46.

H HE gOH 2| A I V, 3R
Vg &, @M Ay 3R Ap e wred
Tk vl ! e e 2,

(A) Aa=AXp

A A
B) A=07
A B
Aa _ AB

(D) 3w W | TH § Al
(E) 37 & & 18

frefafaa # & ®F-H ik o Hioww
farfertor ferawor <t forgroan =t 27

(A) S® & qUHHE Sedl 7, 9%
i = @ fi R
TIHTARE 81 STar 2

(B) weed # uftadd & @i aviswdi
IcEsioh YIth THITAR Sectdl &l 2

(C) et fou mu qomesd w, S@-S@
AU dgdl 8, Scdsish h off
et 2|

(D) 3w U | TH ¥ Al
(E) 37 & & 18 T
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47. I TUEY W@Ha FW  HEHd TH

48.

fderul ey H, 38 W odtgdr I R
Ife FIE TH WS 98 Bl g, al 39l
IH W g I B 811 3R I
o o gay 87

(A) I=Io

(B) I=2I,

(C) I=4I,

(D) 39w | ¥ UH ¥ M+

(E) 37 & ¥ 18 e

600 - qEeed 1 TR Tshd
Ty | 3mafad gdr 21 faedT aea
&1 qgen fEE %2 8 4 fio o &t g
W I Bl B W 3R W@ty % |
# gt 2 Mo | Twfeg A SR F
77

(A) 0-1 firo o
(B) 0-3 fio o
(C) 0-5 o o
(D) 39w | ¥ UH ¥ M+

(E) 37 & ¥ 18 e
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49. At what angle of incidence 51. From the wave equation
of plane-polarized light with

. 2m

quarter-wave plate, elliptically y=0- 551n§(64t— x)
polarized light becomes '
circularly polarized? the frequency of the wave is

(A) S5 Hz
(A) 90° (B) 15 Hz

(C) 20 Hz
(B) 45°

(D) More than one of the above
(C) 60° (E) None of the above
(D) More than one of the above 52. Identify which of the following

expressions is not Maxwell’s

E) N f the ab equation for time-varying fields.
one of the above

> = dp
A) V-J+—=0
(A) ot
> >
(B) V-D=p
50. If a wave is having group velocity
of 2x108 m/sec, then what is > o> a§
] (C) VXE =
phase velocity? t

(D) More than one of the above

8
(A) 4-5x10° m/sec (E) None of the above

53. The voltage induced across a
(B) 5.-5x108 m/sec stationary conductor in an
external static magnetic field

(A) depends on the angle of
(C) 9x 108 m /sec the anductor with the
magnetic field

(B) increases with time
(D) More than one of the above (C) is zero
(D) More than one of the above

(E) None of the above (E) None of the above
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49. <Aty aGT dfgeht o 1Y THAA gARa

50.

TRIRT o SATIA o [ohd 0T T R
gferd TeRTeT etk yefieha &1 Srar 27

(A) 90°
(B) 45°
(C) 60°
(D) 39w H ¥ UH ¥ 1M+

(E) 3w & 9 18 T

ke wE T wm W A

2x 108 o /Ho 2, A e I T R?

(A) 4-5x108 o /@0

(B) 5-5x108 o /%o

(C) 9x108 o /o

(D) 39Y® | ¥ TH ¥ M

(E) 37 & ¥ 18 e
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51.

52.

53.

ﬂi’TH‘HﬁWy:O-Ssin;gb%—x)
ERCUIEO I C I

(A) 5w

(B) 15 gt

(C) 20 g

(D) 39w U | TH § Afeh

(E) 3wt d ¥ =Ig T

vgantn TR fefafea & @ #F-w
SSih GRI-TEd] &E o fou feeae
T GHIHT TR 27

A) V-J+

<N
ol
[

-

(B)

->
(C) VXE =

(D) 39w | ¥ UH ¥ M+
(E) 3w & 9 18 7

T el Wifqw gaha & § R
ek § U dieest

(A) FahE &F 6 @A AR kRO
T freft e 2

(B) @& % WY el ©
(C) ¥ il

(D) 39w | ¥ TH ¥ M
(E) 3udth # & 1$ T
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54. A wire

55.

in the shape of an
equilateral triangle with sides of
length 1 m sits in a magnetic
field of 2 T, pointing to the right.
What is the magnitude of the
magnetic flux through the

triangle?

(A) O Wb
B) 1 Wb
(C) 173 Wb

(D) More than one of the above

(E) None of the above

Which of the following
statements is/are true regarding
Biot-Savart law?

(i) Magnetic field is directly
proportional to the length of
element.

(i) Biot-Savart law deals with
electric field.

(iii) Magnetic field is directly
proportional to the current
through the conductor.

Select the correct answer using
the codes given below.

(A) (i) only

(B) (i) and (ii)

(C) (i) and (iii)

(D) More than one of the above

(E) None of the above

17/MV/M-2023-08 SCI (S)/10-A

56. Find the value of the current i
in the given circuit :
1A i="?
3A 5A
2A
/@\

(A) 2A

B) 3A

C) 1A

(D) More than one of the above

(E) None of the above

57. Which of the following
statements is not correct about
quality factor of a parallel
resonance circuit?

(A) Q-factor of parallel
resonance is the same as
that of series resonance.

(B) Q-factor provides the
current magnification.

(C) Q-factor provides the
voltage magnification.

(D) More than one of the above

(E) None of the above
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54. 1 Hio @1 HI YA AT TH HATE

55.

I o TR o1 T aR SRff AR 3FE
FA T 2T % gahE &1 § da 2
Bgs & #em @ geh WaIE @
fTeT o 27

(A) 0 9=

(B) 1 a=

(C) 1-73 oK

(D) 3w U | UH § Al
(E) 3udeh # & 1S T

FA-gEe % W % ey 9,

frafafaas & @ #FF-w/8 w99 =

B/

() gahE &, T H A8 H
STIHATIITT BT 2|

(ii) sEn-wEd w frem forq & @
geifed 21

(il) geh &=, Fets § aTed O
% STIFHATIITA il 2 |

9 few Mo g w1 owE WA ge wd
I HT =TI T |

(A) e (i)

(B) (i) 3 (i)

(C) (i) 3 (i)

(D) 39Yh H § TH ¥ A
(E) Sudth # @ #1$ T
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56. feu wu qfgy § gm i W AW I

57.

(A) 2 A
B) 3 A
C) 1A
(D) 3w W | TH § Afh

(E) 37 | | 1g el

fordt TR STgATE ufty % e
FE & 9R #, ffafad @ @ HE-a1
o el TE 77

(A) THMIGR TR 1 Q-Heaex, SJaet
IS F Q- F THH & 7|

(B) O-%Fx, oW J@EEA TS
T B

(C) O-%FR, deesl @I UM
LT 2

(D) 39w | ¥ TH ¥ M=

(E) 37 & & 18 e
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58.

59.

In a photoelectric experiment,
both sodium (work function
=2-3eV) and tungsten (work
function = 4-5 eV) metals are
illuminated by an ultraviolet
light of same wavelength. If the
stopping potential for tungsten
is measured to be 1:8V, then
the value of the stopping
potential for sodium will be

A) 4V
(B) 22V
(C) 18V

(D) More than one of the above

(E) None of the above

The fine structure of atomic
spectral lines arises from

(A) electron spin-orbit coupling

(B) nuclear spin

(C) interaction between electron
and nucleus

(D) More than one of the above

(E) None of the above

17/MV/M-2023-08 SCI (S)/10-A

60. An atom with proton number 84

and nucleon number 216 decays
into a new element. In this
process, it emits an alpha
particle. What is the structure
of the new nucleus after the
emission?

(A) Proton number 82, Nucleon
number 212

(B) Proton number 82, Nucleon
number 214

(C) Proton number 85, Nucleon
number 215

(D) More than one of the above

(E) None of the above

61. Which of the following reactions
is not allowed?
A) nt+n—o>Kt+30
B) AT+n—-32t+p
€) p® >ntn”
(D) More than one of the above
(E) None of the above

62. Donor-type impurities are the
materials of
(A) V group of periodic table
(B) IV group of periodic table
(C) I group of periodic table
(D) More than one of the above
(E) None of the above
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58. vwm-fagq wm #, wWfemwm (FF

59.

B =23 eV) 3R T (FE
®ed = 45 eV) Ml Oqe 9EH
TS o T TehTeT & Y it 2|
Ifg v &1 FOeh favm 1.8 v oo
S 2, @ wiferw & feh fawe &
T B

(A) 4V
(B) 22V
(C) 18V
(D) 3w W | TH § Al

(E) 3w & ¥ 18 7

AT UIHHIA Y@l W gEH HieHl
Toper® 3co it 87

(A) ZorrA fEm-her I

(B) wHTY] e

(C) Il 3R TIfirs & &ff= 3==-
ERI

(D) 39w | ¥ TH ¥ M

(E) 37 & & 18 e
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60. Ui HEN 84 3R AT HEA

61.

62.

216 a1 T A H TH ¢ q

&9 BT 81 39 UlRA 6, I8 TH e

T T IS HLAT 2 | IS % &1 AT

ifiren <t T T 27

(A) Wi e 82, JfFAsAd W
212

(B) WieH W& 82, A T
214

(C) WM "= 85, JfFdsi4 we
215

(D) 39w | ¥ UH ¥ M+

(E) 3w & & 18 T

frfafaa o & form arfufsen &t srgufa
& 87

A) nt+n—o>Kt+30

B) A"+n—-2t+p

©€) p®>ntn

(D) 39w W | TH § Afeh
(E) 3T | ¥ I8 e

1T TR o TRt TRt |t 27
(A) 3TEd GReft w1V g

(B) 3Tad @Reft &1 IV a8

(C) =Tad wreft 1 111 T8

(D) 39Y® | ¥ TH | M

(E) Sudth # @ *1$ T
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63.

64.

65.

In an n-type semiconductor, the
Fermi level lies

(A) above the top of the valence
band

(B) below the bottom of the
conduction band

(C) in the middle of the
forbidden gap

(D) More than one of the above
(E) None of the above

The maximum efficiency of a
half-wave rectifier is

(A) 33:3%
(B) 40-6%
(C) 666%

(D) More than one of the above
(E) None of the above

Consider the following types of
modulation :

(i) Amplitude modulation
(i) Frequency modulation
(iii) Phase modulation

(iv) Pulse modulation

Which of the above modulations
are used for telecasting TV
programs?

(A) (ii) and (iii)

(B) (iii) and (iv)

(C) (i) and (ii)

(D) More than one of the above
(E) None of the above

17/MV/M-2023-08 SCI (S)/10-A

66.

67.

For every 10 °C increase in
temperature, the reverse
saturation current of a p-n
junction will be increased by

(A) 10 times

(B) 2 times

(C) 4 times

(D) More than one of the above

(E) None of the above

The band gap
silicon and
photodiodes are 1-1eV and
0-67 eV Their
cut-off wavelengths respectively
would be

energies for
germanium

respectively.

(A) 112727 nm, 185075 nm

(B) 456:12 nm, 1127-27 nm

(C) 131545 nm, 1850:75 nm

(D) More than one of the above

(E) None of the above

24 ([ WAHRTOE TR0 0RO



63.

64.

65.

Tk n-YshR & 31ed=reres § wHf T foog
BT 7

(A) T g % 3 & IW
(B) =TeH d€ % =

(C) afvia 1t & o= o
(D) 39w H ¥ UH ¥ 1M+
(E) 3udth # & 1S T

T -t fewet Y stfteran geran
Bl 7

(A) 33:3%

(B) 40-6%

(C) 666%

(D) 39w | ¥ TH ¥ M
(E) ST | 9 =5 T

ffafiad TR o AieoreHl W faEm
FHITTT

() ST AR

(if) s AT

(iti) =Fer Hieferer

(iv) ¥ie HiesErH

IWEE U W HHE-U Hieeyd o dffo
FEHAT % FARU % faw Iwm fRg
ST &7

(A) (i) 3R (iid)

(B) (iii) 3R (iv)

(C) (i) ¥R (i)

(D) 39Y® | ¥ TH ¥ M

(E) 394 & & hrg 7
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66. Y&F 10°C awaH # ghg = fou

67.

p-n WA FI IGRE G g H Fha
gt

(A) 10 TH
B) 2T
(C) 4T
(D) 39w | ¥ UH ¥ M

(E) 37 & & 18 e

fufererta o sifem wieere & fag
dg FaUel et HAI: 11 eV 3R
0-67 eV &| 37 -3k aureed g,
AT

(A) 1127-27 JArte,
1850-75 Atex

(B) 456-12 JHi,
1127-27 JHdieX

(C) 1315-45 ey,
1850-75 AAmiex

(D) 39w | ¥ UH ¥ 1M

(E) 37 & ¥ 18 e
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68. Which method can be employed 70. For all the reactions, what is
to produce a high degree of the nature of the chemical
homogeneity in the creation of dissociation?

ZnFe ;04 spinel?
(A) Exothermic

(A) Distillation method (B) Reversible

(C) Endothermic

(B) Vaporization method (D) More than one of the above

(E) None of the above
(C) Coprecipitation method

71. The radius of an atomic nucleus

(D) More than one of the above is of the order of

A ~10
(E) None of the above A) 1071° cm
(B) 10713 cm

(C) 107! cm

69. is a crystalline solid’s (D) More than one of the above

basic repetitive structural unit. (E) None of the above

(A) Monomer
72. Atomic orbital is

(B) Molecule (A) the circular path of electron

(B) an elliptical shaped orbit

(C) Unit cell (C) the region in which there is

a maximum possibility of
finding an electron
(D) More than one of the above
(D) More than one of the above

(E) None of the above (E) None of the above
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68. ZnFe,0, fa & fmio & 3= & 70. @ft fufeenett & fou, wwfe

%I THEIAT 399 H ok fore form fafy foriis= =it wepfa @ it =7
=1 fifsra forem S wepar 27
(A) Fsmadt
(A) amEad faf (B) wfderd
(C) ZemTRIe
(B) =i fai (D) v i & v
7y ‘
(C) @-3m@&my fafy () 3% 5 & 5 =
(D) IF § & U ¥ e 71. W] ATHeR i B I i
1 2t 2|
(E) 3% d @ =ig T (A) 10710 Fo o

(B) 10713 @o o
(C) 1071° Fo o

AIEUEER GLEHTcHS 318 2 |

(E) 37 & & 18 e
(A) THAH
72. THIY HEh 2l
(B) =17 (A) TIFM T JATRR T
(B) TSR Hefl
(C) Th H

(C) ¥% &7 7, NEH sorage o g ST
' 1 T Atk Bt
(D) 30w W | TH § Al
(D) 3w W | TH § Afh

(E) 3w # § Hrg T (E) 393 & & g T
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73.

74.

In the rate equation, when the
concentration of reactants is
unity, then the rate is equal to

(A) specific rate constant

(B) average rate constant

(C) instantaneous rate constant

(D) More than one of the above

(E) None of the above

In the reaction 2A+B — A,B,
if the concentration of A is
doubled and that of B is halved,
then the rate of the reaction will

(A) increase 2 times

(B) increase 4 times

(C) decrease 2 times

(D) More than one of the above

(E) None of the above

17/MV/M-2023-08 SCI (S)/10-A

75. A substance A decomposes by

a first-order reaction starting
initially with [A]=2-00 M and
after 200 minutes, [A] becomes
0-15 M. For this reaction ¢/, is

(A) 53-72 minutes
(B) 50-49 minutes
(C) 48:45 minutes
(D) More than one of the above

(E) None of the above

76. Which of the following
assertions about the main cell
is correct?

(A) An example of a primary cell
is a mercury cell.

(B) An example of a primary cell
is a nickel-cadmium storage
cell.

(C) The electrode reactions can
be reversed.

(D) More than one of the above

(E) None of the above
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73. T FHERT H, o AYFHRHT H HEAT

74.

T Bl 8, o 3 e gt @

(A) fafire X fors &

(B) 3THa ot feoress &

(C) dTeehtiorsh <X T =

(D) 39w W | TH § AfUh

(E) 37 | ¥ 18 e

ffFn 2A+ B — A,B H, afd A #
AT ST R @ S 3R B A AreEan
ameft R & Sme, v srfifsn i

(A) 2 THT s STt

(B) 4 Tt =g St

(C) 2 Tt A B St

(D) 30w W | TH § Afh

(E) 37 & & 18 T
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75. Th qoid A waH hife f Afufen @

76.

foafeq 2 8, S weat [A]=2-00 M
% "L Y& B & AR 200 e F
ae [A], 0-15M @& @ gl
wfufien % o ¢y 2

(A) 53-72 fiFe
(B) 5049 fime
(C) 4845 fire
(D) 39w | ¥ TH ¥ M

(E) 3w § | wrg T2

ger 9 & SR #, fefafaa & @
HIF-91 F9H F&l 27

(A) R T, WAHE FA H TH
I B

(B) WiaIfieh ¥t 1 TH IaTe0T k-
Fefirm @RS A 7|

(C) 3ZorRre Afufsanett =t Iater foran
ST Rl 2 |

(D) 39w H ¥ UH ¥ M

(E) 37 & & 18
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77. A catalyst alters which of the 80. The transition without emission

following in a chemical reaction? of radiation of a molecule from
a stable excited state to an
unstable excited state that leads
to dissociation is

(A) Entropy

(B) Activation energy

(C) Internal energy (A) predissociation

(D) More than one of the above
(B) dissociation
(E) None of the above

(C) photodissociation

78. Photochemistry deals with the
study of (D) More than one of the above

(A) photons (E) None of the above

(B) photos

(C) reactions which proceed
with absorptions of visible

] 81. Which of the following products
or UV light

are obtained when Na,COgj is

(D) More than one of the above added to a solution of copper
sulphate?

(E) None of the above

(A) Basic copper carbonate,

sodium sulphate and CO,
79. The number of photons that

pass through a unit area in

a unit time is called (B) Copper hydroxide, sodium

sulphate and CO,
(A) amplitude of light

(C) Copper carbonate, sodium

(B) frequency of light sulphate and CO,

(C) intensity of light
(D) More than one of the above

(D) More than one of the above

(E) None of the above (E) None of the above
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77. THEHE R § Iore FEfated

78.

79.

H ¥ fored aftEdd ear 87
() g

(B) @fsraor =t

(C) =ATafs S

(D) 39w H ¥ TH ¥ M+
(E) 3w & @ 18 7t

hIST-THTE forteh 31899 § Haifed 27
(A) ®IRA
(B) &R

(C) efuframd, St gw@ =1 UV Tt &
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82. The pair that has similar atomic

83.

radii is

(A) Mn and Re

(B) Mo and W

(C) Sc and Ni

(D) More than one of the above

(E) None of the above

According to the IUPAC nomen-
clature, sodium nitroprusside
dihydrate is named as

(A) sodium pentacyanonitrosyl-
ferrate(IIl)

(B) sodium nitroferrocyanide

(C) sodium pentacyanonitrosyl-
ferrate(I)

(D) More than one of the above

(E) None of the above
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84. A substance X

85.

is used in
whitewashing and is obtained
by heating limestone in the
absence of air. Identify X.

(A) CaOCl,

(B) Ca(OH),

(C) CaO

(D) More than one of the above

(E) None of the above

A dilute
solution is gradually added
to the beaker containing
acidified permanganate solution.
The light purple colour of
the solution fades and finally
disappears. Which of the
following is the correct
explanation for the observation?

ferrous  sulphate

(A) KMnO4 1is an oxidizing
agent and it oxidizes FeSOg,.

(B) FeSO4 acts as an oxidizing
agent and it oxidizes
KMnOy.

(C) The colour disappears due
to dilution, no reaction is
involved.

(D) More than one of the above

(E) None of the above
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86. How many structural isomers
are possible if one hydrogen in
diphenylmethane is replaced by

chlorine?
(A) 8
(B) 4
(€ 7

(D) More than one of the above

(E) None of the above

87. Which among the following
statements is/are true?

Exposure of silver chloride to
sunlight for a long duration
turns it grey due to the

(i) formation of silver by
decomposition of silver
chloride

(i) sublimation of silver chloride

(ii) decomposition of chlorine
gas from silver chloride

(iv) oxidation of silver chloride

Select the correct answer using
the codes given below.

(A) (i) only

(B) (i) and (i)

(C) (i) and (iv)

(D) More than one of the above

(E) None of the above
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88. Which of the following is
a branched polymer?
(A) Low-density polymer
(B) Polyester
(C) High-density polymer
(D) More than one of the above
(E) None of the above
89. Which of the following
monomers form biodegradable
polymers?
(A) 3-Hydroxybutanoic acid
+ 3-Hydroxypentanoic acid
(B) Glycine + Aminocaproic acid
(C) Ethylene glycol + Phthalic
acid
(D) More than one of the above
(E) None of the above
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90. The correct order of increasing

91.

nucleophilicity is

(A) CI” <Br <I”

B) Br  <Cl” <I~

(C) T" <Br~ <CI”

(D) More than one of the above

(E) None of the above

Select the
from the following options.

correct statement

(A) Spectroscopic methods
require less time and more

amount of sample than
classical methods.
(B) Spectroscopic methods

require more time and more

amount of sample than
classical methods.
(C) Spectroscopic methods

require less time and less
amount of sample than
classical methods.

(D) More than one of the above

(E) None of the above
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92. A carbonyl group will cause
a sharp dip at about cm .
(A) 1700
(B) 2800
(C) 3400
(D) More than one of the above
(E) None of the above

93. Which is the best suited method
for the separation of para- and
ortho-nitrophenols from 1:1
mixture?
(A) Crystallization
(B) Chromatography
(C) Steam distillation
(D) More than one of the above
(E) None of the above

94. Find the compound which
undergoes nucleophilic substi-
tution reaction exclusively by
an Sy 1 mechanism.
(A) Benzyl chloride
(B) Chlorobenzene
(C) Ethyl chloride
(D) More than one of the above
(E) None of the above
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95.

96.

97.

The majority of phytophagous
nematodes are

(A) root parasites

(B) stem parasites

(C) tissue parasites

(D) More than one of the above

(E) None of the above

One of the purposes of
secondary treatment of waste-
water and sewage is

(A) to increase the chlorine

content
(B) to reduce the BOD

(C) to encourage the formation
of PCBs

(D) More than one of the above

(E) None of the above

Most bacteria that cause plant
diseases are members of the
group of

(A) rod-shaped and  gram-
positive bacteria
(B) rod-shaped and  gram-

negative bacteria

(C) filament-shaped and gram-
positive bacteria

(D) More than one of the above

(E) None of the above
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98. Nutritionally Albugo is

(A) saprophyte

(B) facultative saprophyte

(C) obligate parasite

(D) More than one of the above

(E) None of the above

99. Which of the following is
incorrect statement?

(A) In Liliaceae, some plants
have underground parts.

(B) Fibre-yielding plants are
found in Malvaceae.

(C) Trees with Ilarge flowers
and seeds are found in
Compositae.

(D) More than one of the above

(E) None of the above

100. One of the major Basmati
rice-producing States in our
country is

(A) Kerala

(B) Andhra Pradesh

(C) Uttar Pradesh

(D) More than one of the above

(E) None of the above
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101.

102.

103.

What is Somaclone?

(A) Plant which is chemically
identical to the source plant

(B) Plant which is morpho-
logically similar to the
original plant

(C) Plant which is auto-
matically identical to the
original plant

(D) More than one of the above

(E) None of the above

The functional unit of synthesis
of protein is

(A) peroxisome

(B) polysome

(C) lysosome

(D) More than one of the above

(E) None of the above

Active transport takes place

(A) against concentration gra-
dient and requires ATP

(B) against concentration gra-
dient and does not require
ATP

(C) with concentration gradient
and does not require ATP

(D) More than one of the above

(E) None of the above
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104. Tropical evergreen forests are
found in which of the following
States of India?

(A) Tamil Nadu

(B) Assam

(C) Madhya Pradesh

(D) More than one of the above
(E) None of the above

105. Ozone hole refers to

(A) decrease in ozone concen-
tration in stratosphere

(B) decrease in the thickness of
ozone layer in stratosphere

(C) increase in the thick layer of
ozone in stratosphere

(D) More than one of the above

(E) None of the above

106. Groundnut oil is obtained from
(A) Brassica juncea
(B) Artabotrys odoratissimus
(C) Arachis hypogaea
(D) More than one of the above
(E) None of the above

107. The component of food that does
not provide any nutrient to our
body and yet is essential in our
food is
(A) fat
(B) carbohydrate
(C) roughage
(D) More than one of the above
(E) None of the above
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108. Plasma membrane is built up of
(A) protein

(B) lipid

(C) carbohydrate

(D) More than one of the above

(E) None of the above

109. Mendel’s principle of inheritance
is based on
(A) vegetative reproduction
(B) asexual reproduction
(C) sexual reproduction
(D) More than one of the above
(E) None of the above

110. When there is a decrease in the

concentration of oxygen in the
blood, the rate of breathing

(A) decreases

(B) increases

(C) does not change

(D) More than one of the above
(E) None of the above
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111. In human body, which one
of the following hormones
regulates blood calcium and
phosphate?

(A) Glucagon

(B) Growth hormone

(C) Parathyroid hormone

(D) More than one of the above
(E) None of the above

112. Quick response towards stress
is done by
(A) androgen

(B) epinephrine
(C) corticosteroid
(D) More than one of the above

(E) None of the above

113. Cimex hemipterus parasitizes on
(A) sheep
(B) man
(C) elephant
(D) More than one of the above
(E) None of the above

114. Which of the following is
a human ‘blood fluke™
(A) Enterobius vermicularis
(B) Schistosoma mansoni
(C) Wuchereria bancrofti
(D) More than one of the above
(E) None of the above
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115. The embryonic respiratory organ

116.

117.

in chick is

(A) amnion

(B) chorion

(C) allantois

(D) More than one of the above

(E) None of the above

Which of the following
characterizes aging?
(A) An increase in the

consumption of oxygen
(B) Increased anabolism
(C) Increased metabolic activity
(D) More than one of the above

(E) None of the above

Eugenics is the study of

(A) different races

(B) people of European origin

(C) altering human beings by
changing the genetic
components

(D) More than one of the above

(E) None of the above
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118.

In some animal groups, the
body is found divided into
compartments with at least
some organs serially repeated.
This feature is named as

(A) segmentation

(B) metamerism

(C) metagenesis

(D) More than one of the above

(E) None of the above

119. Which type of larva is found in
majority of Crustacea?
(A) Tornaria
(B) Bipinnaria
(C) Nauplius
(D) More than one of the above
(E) None of the above

120. According to Oparin, which of
the following was not present
in the primitive atmosphere of
the Earth?
(A) Oxygen
(B) Hydrogen
(C) Water vapour
(D) More than one of the above
(E) None of the above
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